CLASS? MATHEMATICg

i TIME:31
Attempt any eight questions IME.ZZh

QUESTION-1

1
a) Ifx# 0and 3x + 3x  0.find the valye of 27x'+ -1-—.

(4)
QUESTION-2

a) The mean weight of 35 students of a class
52 Kg left the school. Find the mean wei

b) Factorise: p6-7p3- 8.

¢) Rohit went to bank to withdraw Rs 4000. He asked the cashier to give Rs 50 and

Rs 100 notes only. Rohit got 50 notes in all _ Find how many notes of Rs 50 and
Rs100 he received.

is 55 Kg. Two students of weight 58K g and
ght of remaining students, 3

(3)
S
QUESTION-3

a) In the figure P is any point in the angle ABC such that perpendicular’s drawn
from P on AB and BC are equal. Prove that BP bisects angle ABC. 2

\C P - .
b) Find the value of ‘a’ and ’b’ in the following
Vi-2 3)
o V7 +b.

¢) Ramesh borrows Rs 40,000 at 12 percent compc()jund interest. If he re:paysf 116,800
at the end of 1% year and 19,360 at the end of 2™ year, find the amount ot foan

: - 4
outstanding at the beginning of the third year.

QUESTION-4

51,63,71,and 35. If52is
f the data 48,92,64, 76,52, )

a) Find the mean and median 0 P
replaced by 66; what will be the new me 1an!

-



p) Solve the following linear o

3-Vs Quations 2y45,,
¢) Lvaluate o 2 :_}g 2y-3= and X+2y+1=q.

(3)
(4)

The mean of 48 observations is 34

o . 1D . i
misread as 32 and 79 l'nstead of 82 anq 19k as dlscovered that two items were
p. Calculate the amount if Rg 20,000 jg lend .t nd the corregy Mean?
rate for the successive years are 8% Ny -

¢. Inthe figure AB=DB ang Ac- DC. If <ABp=s 8’ 0% per annun, respectively. (3)

. Later on lt w

<DCB= 63" find the values of x and y '<DBC"‘*(2x-4)°,< ACB= (y+15Y’
A 4)
B C
QUESTION-6
]

2_ = & | R 1
a. Ifa’-5a+1=0 and a+#0 find (i) a+ —(ii) o 4 = (i) 2.1

: a? (3)
b. Factorise (2x-3y)? + 3 (2x-3y)—10. a? "
¢. Find the mean of the following data: (3)
33,25,35,27,29,31,31,36,34 26
(1)Show that the sum of the deviations of all the given observations from the mean is

ZCro. (4)
QUESTION-7
a. Factorise 9a°+ 3a—8b—64b? | 3)

b. Construct a frequency distribution table from the following cumulative frequency
distribution

% 283 510 | 10-15 | 15-20 | 2025 | 2530
interval
Cumulative 18 30 46 73 90
frequency
3)
¢. Inthe given figure , D is the g‘lidpoint of AB. DE||BC and DF||AC. Prove that
DE=BF - (4)
D - E
> A




a What sum of‘mgne}. wil]

inff?r‘?sr' 4Mount ¢q Rs 3639 in2
p. Using property evalyate 3 <y

3 at 10,
[ ‘e per
¢. If the numerator of 3 £, . (~27)3+(_12)3~ annum compound
Clion js ¢ reaseq p, (3)
denominator is inc v 1its (2
Teased by 5 i Value becgme. 1 velue becomes 2 but if the >
" mes = :
QFESTIO‘\‘Q 53 What is the fraction
] (%)
a. Ifa‘—b_c=3 and az+ b2 2

e fmdab_bc+ca
p. Expand :(5x-3y+2) (5X+3y +2)

lLinten-'aI
| frequency

!
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